
Exercício C6.2 
 

Dependent Variable: LWAGE  

Method: Least Squares   

Sample: 1 526   

Included observations: 526  
     
     Variable Coefficient Std. Error t-Statistic Prob.   
     
     C 0.127998 0.105932 1.208296 0.2275 

EDUC 0.090366 0.007468 12.10041 0.0000 

EXPER 0.041009 0.005197 7.891606 0.0000 

EXPER^2 -0.000714 0.000116 -6.163888 0.0000 
     
     R-squared 0.300273     Mean dependent var 1.623268 

Adjusted R-squared 0.296251     S.D. dependent var 0.531538 

S.E. of regression 0.445906     Akaike info criterion 1.230158 

Sum squared resid 103.7904     Schwarz criterion 1.262594 

Log likelihood -319.5316     Hannan-Quinn criter. 1.242858 

F-statistic 74.66829     Durbin-Watson stat 1.785009 

Prob(F-statistic) 0.000000    
     
     

 

 


